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i LREOBBNBIENDKRES LREOERBEENDRES IREOBHOBIENDRES LREDEBRBEENDRES
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3mEi#BZ B -~ -
Fhst 100|000 ~ 226 30.45 | #FhS | 000 ~ 226|252 12.72 Fhst 1.00 | 5.00 ~ 5.00 30.45 | #nS | 5,00 ~ 500 | 2.52 12.72
2 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst 1.00 | 000 ~ 468 5839 | #hS | 000 ~ 468|232 11.74 Fhst 100|500 ~ 836 5839 | #nst | 500 ~ 836|232 11.74
3 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst 1.00 | 000 ~ 598 74.89 | FnLS | 0.00 ~ 598 2.04 10.50 Fhst 1.00 | 500 ~ 804 74.89 | TS | .00 ~ 804 | 2.04 10.30
4 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst 1.00 | 000 ~ 593 74.23 | FhLS | 000 ~ 593 1.97 9.94 Fhst 1.00 | 500 ~ 744 74.23 | TS | 5,00 ~ 744 | 1.97 9.94
5 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst 1.00 | 000 ~ 548 68.38 | FnLS | 0.00 ~ 548 2.09 10.59 Fhst 1.00 | 500 ~ 757 68.38 | TnLSY | .00 ~ 7.57| 2.09 10.69
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst 1.00 | 000 ~ 669 84.50 | #hst | 000 ~ 669 | 1.80 912 Fhst 100|500 ~ 813 84.50 | #nst | 5,00 ~ 813 | 1.80 912
- 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst 1.00 | 000 ~ 558 69.73 | FnLS | 000 ~ 558|212 10.72 Fhst 1.00 | 500 ~ 802 69.73 | TnLSY | .00 ~ 802|212 10.72
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst 100|000 ~ 372 46.89 | #Fnst | 000 ~ 3572|2556 12.91 Fhst 1.00 | 500 ~ 914 46.89 | =nst | 500 ~ 9.14 | 2556 12.91
9 100kN/ Mm% 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
10 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| st -~ - - - Fhst - -~ - -| Fhust -~
11 100kN/ Mm% 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
12 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst 100|000 ~ 617 77.88 | FhLS | 000 ~ 617 1.85 9.33 Fhst 100|500 ~ 728 77.88 | TnLSY | .00 ~ 7.28)| 1.85 9.53
13 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| =Rt -~
14 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst 100|000 ~ 478 59.51 | #F0S | 000 ~ 000|173 873 Fhst 1.00 | 5.00 ~ 5.00 59.51 | =St | 5,00 ~ 500 | 1.73 873
15 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - ZFhLst - -~ - -| =Rt -~
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16 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - -| 100kN/mM#%#8% % - -~ -|3mEi#BZ B -~ -
Fhst - -~ - Fhest -~ Fhst -~ ZhLst ~
17 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ -| 100kN/mM#%#8% % -~ -|3m%Ei#BZ B -~
Fhst - -~ - ZFhst -~ Fhst ~ ZhLst ~
18 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZhLst ~
19 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZzhLst ~
2 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZzhLst ~
21 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - Fhst ~ Fhst ~ ZhLst ~
29 100kN/mM%E#BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZzhLst ~
23 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - Fhst ~ Fhst ~ ZhLst ~
24 100kN/ Mm% 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZzhLst ~
25 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - Fhst ~ Fhst ~ ZhLst ~
2% 100kN/ Mm% 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZhLst ~
a7 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
Fhst - -~ - Fhst ~ Fhst ~ ZhLst ~
28 100kN/mM%E#BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - Fhst ~ Fhst ~ ZhLst ~
29 100kN/mM%BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst 1.00 | 000 ~ 572 71.52 | FhLS | 000 ~ 0.00)| 1.57 7.91 Fhst 1.00 | 500 ~ 7.00 71.52 | FnLS | 5,00 ~ 7.00| 1.57 7.91
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ FhLst ~ ZFhLst ~ ZzhLst ~




